E55MIUBRPERBERTAE ELHmHEX= 201547 A 250 (+) ~26 8 (A)
# F420LBRPERELFREFERSLBETESR RE—
% ¥700ERABRSELBRULMETES ERTAET R L BE
A+ fH 147 2L 3{ 447 5 i 61\ 7L 8 fir.
BT-14  |7/25 100m (i &% 1 12. 10 |[fPERZA 1 12.18 |HE 1 12.54 |18 #ER 1 12.68 |#ik ZH 1 12.72 |)E 1 12.82 MpHE #hify 1 12.88 |ShiF KA 1 12.91
R -0.3 |5 -0.3 R -0.3 PRIREA -0.3 | ILIKHE -0.3 WEH— -0.3 |l 50 -0.3 |ilEfE -0.3
BT-24  |7/25 100m #E BA 2 11.80 MEJRfmAR 2 11.84 |HiH " o2 11.86 |mifE  KHE 2 11.93 [ffiA 2 11.96 |#aAk  FH3F 2 12.09 |45 &7 2 12.09 &  EHZE 2 12. 10
GERvA i E| 0.0 i 5500 0.0 ILJEH= 0.0 | K 0.0 I+ 0.0 [#B%E= 0.0 [ EHt 0.0 /M 0.0
BT 34 | 17/25 100m |fEM #HZ% 3 11.44 |fefE # 3 11.60 x5H  Fuff 3 11.63 |&f 1 Kit 3 11.65 KB #ad 3 11.75 KB 8 3 11.76 |#if  BqE 3 11.77
R +1.8 | Bl +1.8 |IWBEHE= +1.8 [HHE= +1.8 | Liidk +1.8 | KEH— +1.8 [N +1.8
Bydtm | 7/26 200m |HEiG EME 3 22.86 M Fokt 3 23.16 |#i2 A 3 23.52 |fefE —pk 3 23.59 B FE 3 23.76 EfE TN 3 23.76 \{EATILRHT 3 23.99 B MK 3 24. 05
i Y +1.8 |IWBFHE= +1.8 | REH— +1.8 KRN +1.8 | +1.8 | KA H +1.8 KIRFEH +1.8 |BE +1.8
BydiE | 7/25 400m |=EE WA 3 52.47 | &K 3 53.02 |[[E# HZ 3 53.28 |58 W 3 53.44 \JEDBERES 2 54.13 %2 ¥ 3 54.30 | &)1 MK 3 54.85 B K& 3 55. 60
KA W — &3 R 23] KA RS KR =
Bydtm | 7/26 800m &% AHE 3 2:00.73 PHE #EKRK 3 2:02.97 | WK 3 2:03.35 [#Pff LA 3 2:03.89 |HFM1 W3 2:05.94 |4k @ 3 2:08.22 iRk A 3 2:08.41 P EA 3 2:10. 92
Ay JRAER i Y R fix KEFN it jSiai]
BT14 [7/25) 1500m |[{EiE BFE 1 4:35.49 [ HA 1 4:35.86 |(HEEMLZAT 1 4:40.82 |ZFRFAE 1 4:40.90 fNfE sERK 1 4:41.41 I B 1 4:45.79 |G E 1 4:46.13 |7 Fid 1 4:46. 30
sl 55— ) ILIEEIL [OEl JRAER [OEl REFH = EHE AN
By2 34 7/25) 1500m ik EE 3 4:07.45 &% HHE 3 4:09.73 gnk E 3 4:10.25 [lU%8  WR{G 3 4:12.84 K& B} 2 4:14.29 | AK HEFR 3 4:15.09 XM Fiff 3 4:18.05 |ZHH i 3 4:20. 29
W — Ay ) jSiai] IIEEAR -l IEE+ g+
Bydam | 7/26) 3000m |k FEE 3 8:54.41 | KK WEFI 3 9:06.42 | K W 3 9:08.80 |MU%E  Weffi 3 9:09.96 #3K TwZ 3 9:13.22 | =i K 3 9:14.89 |[ZHH #ith 3 9:16.79 |[®H  Hift 3 9:21.51
W — GR |l KIT jSiai] ) JRAER IIEE+ IIEE+
Bydm | 7/26) 110mH (fHE Ffudl 3 14.90 |pTis KBE 3 15.61 |l st 3 15.98 |mifE K& 2 16.10 |Fuill 5z 2 16.10 &M Fnd 3 16.67 | LH i 3 16.91 |HH HHE 3 17.02
(0. 914m) B = -1.3 s — -3 | KAH -L3 | EERE— -1.3 [N -1.3 |45 —1.3 [ A -1.3 | -1.3
Brdkm | 7/25 Ak ES(GPN 1m88 | EifE WAL 3 Im76 PR B4 3 Im70 [[FE : SEHF  dEK Im70 |[FJIE - P56 3 Im70 B2 HBA 3 Im70 \E5JIl FogE 3 Im70 ([WJI i 3 1m65
73 i Y HEl| S s 55— KATH N [OEl
Brdm | 7/25 He ek OB T -] 4m20 [iEEE WE— 3 3m60 | Kb S0 3 3m50 | Kfil it 3 3m50 ‘w3 3m20 | A3 3m00 WL 2 2m70
W — KATH HEL ZEL #H W — #H
Brdkm | 7/26 AEEk (A % 3 6m35 REMH HZe 3 6m29 |EfE —F 3 6m24 FE I KHE 3 6m09 |52 A 3 5m93 | TR EK 3 5m9l | il 3 5m81 | ftfA 3 5m81
K — +0.8 |k 0.0 | B\ +1.1 | +0.7 [Fe b -0.1 | ke +1.0|{Pgp -0.0 i3 -0.1
Bt | 7/26 i FL ey fFER 3 1mdl BKBE i 3 1mll @& B 3 10m68 |k HE 2 10m19 B S 3 10m16 |75k ¥ 3 9mb9 |(LE  FoiE 3 Imd9 K A 3 9m48
(5.000kg)  EEEH KREH = [OEl I IIEEAR ZEL [GETEN [ZE
Brdkm | 7/25 REE | eiE RS 2 2299 [Nk HEXR 3 2239 [filli il 3 2212 |BEEF @K 3 2092 JF I Hii 3 1986 |[HH  EEL 2 1980 [JEFB B4 3 1959 | 545 HElE 3 1958
7/26 R T KATH I KT sl 550U )| [ZE N
110mH-fig AL P —E = BE-400m |16, 39/+0. 3-11m33-1m63-56. 09 16. 03/+2. 0-10m64-1m63-57. 62 16. 81/-0. 4-10m44-1m78-59. 04 16. 98/+0. 8-8m53-1m75-58. 01 16. 73/-0. 4-9m63-1m45-57. 08 16. 64/+2. 0-9m59-1m45-57. 42 18. 87/+0. 3-8m98-1m75-57. 43 17. 59/+0. 3-10m56-1m55-58. 98
BAARTFAE [7/26) 4X100m [JEHZEMN 48.38 Ik Lk 48.57 | HARE — 49.09 B 49.49 [T 49.96 |ILITEEE = 50. 53 | — 51.87
e el 2 w1 [EiE AR 1 (3 SEONIEN I B} 1 A ME 1 WL &R 1
Sl STk 2 w1 Ry @& 1 B & 2 W0 e 2 MK #mE 1 i RE 2
s 1 fREL MR 2 Sem —fE 2 g Rk 1 PV T S | HEOWA 2 VERERERE) 2
PEEZ 1 A TR 2 PriE Sk 2 g B 2 JNEEEERER 2 IE EE 2 o W1
Brdm [ 7/26) 4X100m |[LJEH = 44.28 | K — 44.40 [ H 5 44.47 \HE Tl 44.48 IR B 45.75 |\E & 45.85 | Rk 46.63 i b 46. 66
g M 3 GR | @ & 3 HA-EE 2 R s 3 | R 3 LW w3 B HiE 3 mA A 3
miE R 2 A Fud 3 e B 3 wifs A 3 Byl B 3 REH H2e 3 TR #K 3 HtESEE 3
g Fnsk 3 MR K 3 el Rl 2 e Fapk 3 ik KBf 3 TEE OLE 3 bk - 3 i)l KE 3
AW Fokt 3 BE M 3 e WAL 3 Ve Bk 3 g &% 1 ik #Hi 3 KB a3 HALER 3
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F55EIUBRPERBEAERE ELHEHEX= 20154£7 A 258 (+) ~268 (A)
# F420LBRPERELFREFERSLBETESR RE—
# FE700ERKEARELBRBRLUERESES BETET EE LR
A+ fH 147 2 fr 3L 447 5 i 64\ 7L 8 fir.
LT 14 [ 7/25 100m |HE BHFE 1 13.51 |y A8 1 13.57 W WA 1 13.58 | HHmARS 1 13.61 |Bk8 % 1 13.82 PEFEML T 1 13.93 |ETF 4L 1 14.09 HRC ORI 1 14. 19
JIvE +2.4 |[IEE+ +2.4 |ILKKEE +2.4 | — +2.4 B +2.4 |il [ ECE +2.4 [iHE = +2.4 KIREH +2.4
24 | 1/25 100m [\ & 2 12.92 Bk wE 2 12.93 | HH LF 2 13.05 | ¥t 24 2 13.32 /. %k 2 13.41 [#E4% R 2 13.46 JIF Bk 2 13.48 |HifGHERT 2 13.57
3] -0.9 |H#H -0.9 |HURH -0.9 W -0.9 [Pl -0.9 | Il -0.9 WEHEF= -0.9 |41l -0.9
T34 | 7/25 100m |#% &K% 3 12.43 %A @ 3 12.59 @ fEE 3 12.85 [ HX 3 13.17 fE% HF/F 3 13.43 |@ff =ik 3 13.62 [ME¥F A% 3 13.66 |7 FEfE 3 13.77
HUHREE -0.7 gt -0.7 |WEEA -0.7 |F% 0.7 %L 0.7 [WHE= -0.7 |KiREEM -0.7 |3l -0.7
fdtE | 7/26 200m |HH kE 3 25.62 i fEF 3 27.08 | FH LF 2 27.18 M AF 3 27.33 |BL B 3 27.61 | HRURES 1 27.72 |l RE 3 27.75 |EGHER T 2 27.77
AR -1.6 |IEEN -1.6 |HARE -1.6 [IEEN -1.6 | HARE— -1.6 s — RRESCEN -1.6 |41l -1.6
r-dkiE | 7/26 800m | FAIEALDL 3 2:17.16 R HE 3 2:17.52 B M3 2:18.43 i kH T 3 2:18.72 WEMT AEK 3 2:20.99 /hEF EHEME 3 2:21.07 3E¥F HkfE 3 2:21.13 ARk TR 2 2:27.72
RN KREEY REH— JRAER HTS7E H it jSiai] IIpN{YE
14 (7/25) 1500m |FHM OEM 1 5:05.33 /hbk AEAE 1 5:05.79 fngE w1 5:08.58 miff & 1 5:08.59 kA w1 5:10.01 [[A% Ak 1 5:10.16 | TjiE #c 1 5:12.39 AfIl E#E 1 5:12. 46
i BN R it KR W — Ke LM
L2 34[7/25] 1500m |[FAEHFHDL 3 4:40.79 |[RHE T 3 4:42.17 [ KE T3 4:42.68 LA % 3 4:47.50 [RiBABE 2 4:51.91 Sz M 3 4:53.33 [fE6 TH 2 4:53.72 N KEK 3 4:55.29
RN KREEY JRAER PR JIvE REH— W — HTS7E H
Lepdm [ 7/26) 100mH (KA @ 3 14.53 Bx  mE 2 14.98 |F  HzE 3 15.03 [iESF @A 3 15.53 |[AfILEEZRE 2 15.70 B EZE 2 15.81 A1 e 2 15.82 |k {6 3 15. 89
(0. 762m) WEEt +0.1 |HHT +0. 1 [N +0. 1 R +0.1 | E% +0. 1 [HUREE +0. 1 |5 +0. 1 |fEBRA = +0. 1
r-dkiE | 7/26 Ak #* OH# 3 Im54 | H&E 3 Imbl B EEL 2 Im51 /NAFEIRFED 3 1m48 |[FIE : fEse &F 1md8 i A% 3 1m45 |[FIIE : R~ 7 1md5 B OVRT. 2 1m40
) W R ERIIE ZEL U sl 550U KT
Ir-dkiE | 7/25 RE T W BA 3 5m36 | I[LIEFE T 2 4m84 PR bz 3 4m80 /NHBFEE 2 4m75 (iR CHE 3 4m68 | AH  FEME 3 4m65 |H#ERE AhFE 2 4mb3 WL BETh 3 4m49
A -0.0 R +0.5 (& H +1.3 IWEH= -0.8 iR -0. 1 il +0.7 [ &H +0.9 WEHA +1.5
s | 7/25 Fa LB TEE HAv 3 14m83 |Gy 3&HL 3 11m86 [P #if: 3 10m35 MFEAFMR 3 9m85 A b messt 1 m76 BT HEA 3 Im7L [ A DBV 3 9m65 P W 3 Im61
(2.721kg)  |%&H GR HEH B — ZEL W= HARE— [GISE FR
LfdE | 7/25 OfEFE A fEE 3 2153 RER L1 2 2006 | =i KnE 3 1996 ek & 3 1970 EAL Rifd 3 1888 |k B 3 1882 ek &R 1 1874 Ve 2 1719
7/26 TR 55— *C 1|10 575 DY REEH; &H N KiL *C1 A H *C 1| LR B R
100mH-7 FBE-FR AL -200m |16, 04/+2. 2-1m43-Tm71-29. 48/+2. 2 17. 04/+0. 6-1m46-Tm70-30. 37/+1. 4 16.95/+1. 0-1m35-Tm91-29. 19/+1. 4 16. 42/-0. 8-1m35-6m38-29. 04/+2. 3 16. 48/+1. 0-1m20-7m81-29. 30/+2. 4 17. 79/+2. 2-1m30-8m82-29. 59/+2. 4 16. 43/+2. 2-1m20-6m66-28. 56/+2. 2 18. 03/-0. 8-1m30-8m04-30. 87/+2. 2
TR [ 7/26] 4 X 100m [WEKHIE 53. 17 | &5 — 53. 18 |HUREE— 53.74 4 W] 54.30 | K#H 54. 42 1P G 54. 59
TR OHE 2 %k ®E 1 AfhE RRE1 e EE 2 B W1 B4 1
Wil WH 1 AR 1 B BEE 1 g RS 1 WA EE 1L WAL T 1
e EE 1 %k Hifi 2 b ELh 2 A KA1 B NER 2 W M 2
WA Bk 2 EHERH 2 ME DH 2 fEH BRAE 2 HHOHEHE 2 BT 2
LfdmE [ 7/26) 4X100m [EEE= 51.56 [ILIJEEE G 52.00 [ILFEEEA 52.20 |4E |l 52.44 |42 H 52.59 I 53.01 i & 53. 23
JUK Bk 2 e Bk 1 gk kw2 EE #EE 3 hayE EEF 3 T BkiE 3 RIEEFIA 3
HWEE A 1 el bk 2 ®_E fEE 3 i FER#E 3 KH - ZEBE 3 EE HE 2 AW BEME 3
i Ek 3 ek mR 3 A fET 2 Jifd =E 2 EiE Bk 2 s wE 3 BEIR K 2
i AHE 3 WA w3 il AP 3 e &HF 3 W hE 2 R OHx 3 NP M3
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